
Resultant Force  

Two forces that act in the same direction 



Two forces that act in opposite directions 



Two forces parallel to one another 



Two forces in different directions 









Rectangular components of a force 



If we have more than one force, then 
the resultant will be : 

𝑅𝑥 =  𝐹𝑥  𝑅𝑦 =  𝐹𝑦 

𝑹 = 𝑹𝒙
𝟐 + 𝑹𝒚

𝟐     

𝑇𝑎𝑛 𝜃 =  
𝑅𝑦

𝑅𝑥
 



Two forces F1, F2 of 50N and 60N respectively. Find resultant? 

F1x = F1 cos45° 
F1y = F1 sin45° 
F2x = F2 
F2y = 0 

Rx = F1 cos45° + F2 

Rx = 95N 

Ry = F1 sin45° 

Ry = 35N 

R = √952 + 352 = 100  N 

θ = 20° 



Ex: the forces F1, F2 and F3 all which act on point A of the bracket, are 
specified in three different ways. Determine the x and y scalar 
components and the resultant R. 



𝐹1𝑥 = 600 cos 35
𝑜  = 491 𝑁 

𝐹1𝑦 = 600 sin 35
𝑜  = 344 𝑁 

𝐹2𝑥 = −500 
4

5
 = −400 𝑁 

𝐹2𝑦 = 500 
3

5
 = 300 𝑁 

𝑇𝑎𝑛 𝛼 =  
0.2

0.4
  →      𝛼 =  26.6𝑜 

𝐹3𝑥 = 800 sin 26.6
𝑜  = 358 𝑁 

𝐹3𝑦 = −800 cos 26.6
𝑜  = −716 𝑁 

𝑅𝑥 = 491 − 400 + 358 = 449 𝑁 
𝑅𝑦 = 344 + 300 − 716 = −72 𝑁 

𝑅 = 4492 + (−72)2=   454.74  𝑁 
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Inclined Coordinates  




